Weekly Review Test 202142 B3t 02/15-02/19

Week 3 (pp. 28-35) Basic Level

ABCH &3R5

Class:

Name:

Section One: Listening Comprehension
Part 1. Picture Questions (24%)

Look at each picture and answer the question.

()L

( )3

Part 2. Choose the Correct Word (28%o)
Choose the word that you hear.

( )4 (A)Light (B) Lift (C) Right
( )5.(A)Best (B) Wait (C) Waste
( )6.(A)Juice (B) Youth (C) You

( )7.(A) Noon (B) Moon (C) Room

Part 3. Best Response Questions (24%)
Listen to the statement or question and choose the best
response.

() 8.(A) True. It’s a nice color.
(B) Yeah. It’s hard to carry.
(C) Right. It’s so small.

(' )9.(A) No. They’re not cute.
(B) Yeah. I love them.
(C) No. They’re not scary.

() 10. (A) Sure. It’s time for lunch.
(B) Yeah. It’s cold.
(C) Yes. It’s 12:00.

Part 4. Conversation Questions (24%o)
Listen to each conversation and answer the question.

() 11. (A) He ate a lot of sweets.
(B) He hasn’t had any candy.
(C) He is getting sick now.

() 12. (A) He cut her hair.
(B) He gave her an idea.
(C) He asked her a question.

() 13. (A) Pay to use the car for a while.
(B) Bought an expensive car.
(C) Borrowed a car from a friend.
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() 1. The factory’s waste water the river.
(A) recycles (B) pollutes
(C) suggests (D) frightens

() 2. 1can’t believe that the young lady eats such
alarge _ of food in one meal.
(A) hunger (B) youth
(C) amount (D) environment

() 3. Anya doesn’t take a bus from home to work;
she rides a
(A) scooter (B) noon
(C) midnight (D) waste

() 4. Selmawas the boss of alarge
company.
(A) light (B) international
(C) basic (D) convenient

() 5. This box is too ; | am not strong
enough to carry it.
(A) simple (B) empty
(C) straight (D) heavy
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Nico and Hilda are going over things before a
trip. Their tickets and other paperwork are _ (6) .
Hilda is done packing her backpack. Nico thinks
her backpack is _ (7)__ heavy. It will be hard for
her _ (8)__. Hilda says she can’t live __(9)__ any
of those things. Nico doesn’t think she needs to
bring her hairdryer or fancy shoes. She also
doesn’t need so __ (10)__ clothing. “Less is more,”
says Nico.

( )6.(A)in fear (B) in danger

(C) in order (D) in between
( )7.(A)yet (B) super

(C) hardly (D) almost
( )8.(A)tocarry (B) and carry

(C) by carrying (D) to be carried away
( )9. (A)on (B) by

(C) for (D) without
() 10.(A) few (B) much

(C) many (D) alot

=~ BB (30%)

Life is more convenient because of plastic. It
makes cars and machines lighter. We can use it to
store and carry things, too. However, it’s also
hurting our lives. It pollutes the environment and
kills living things. It’s a serious problem that isn’t
going away by itself. That’s because it takes
hundreds of years to break down. The plastic we
are using and throwing away every day will be
here for a long time.

() 11. What is this passage mainly about?
(A) How plastic makes life more
convenient.
(B) The problems caused by plastic.
(C) How plastic makes machines lighter.
(D) How long plastic will be around.

() 12. In the passage, what is said about plastic?
(A) There’s nothing good about it.
(B) It kills living things.
(C) It breaks down easily.
(D) 1t makes machines heavier. .

() 13. What is said to be a serious problem with

plastic?

(A) Fewer people use it to store things.

(B) Fewer factories are making plastic
bags.

(C) It won’t go away by itself for
hundreds of years.

(D) People have to pay for plastic bags.
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